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— W=+ —H=+H - 9.90 10.00 N i
— %+ —H=+—H - 9.49 -4 5.60 -44.0
—hWhEE+—H=+—H - 9.76 -1.4 4.55 -54.5
— LW E++—_H=1+—H - 10.77 8.8 7.40 -26.0
— Lt +—H=+—H - 10.01 1.1 6.20 -38.0
— NN FE+_H=+—H - 9.40 5.1 4.80 -52.0
— W NEFE+=—H=+—H - 10.41 5.2 4.60 -54.0
TEETE T _H=+—H 3.30 7.12 5.3 3.48 -32.3
“EE M+ _H=+—H 3.60 6.83 5.4 3.23 -31.8
“EE T H=+—H 4.60 5.88 5.9 2.80 -26.0
“EZEEFH=+—H 5.00 6.06 11.7 3.60 -14.0
“EERWAE+FH=+—H 5.80 6.44 23.6 4.60 4.0
—“EERF T _H=1+—H 7.30 4.03 14.4 3.93 12.3
“EEARFET_H=1+—H 8.50 3.11 17.3 2.10 6.0
—“EEXELHF+_H=1+—H 9.00 3.03 21.5 2.30 13.0
—“EENFE+_H=1+—H 9.20 2.43 17.5 1.95 11.5
“EENFET_H=1+—H 9.30 2.41 18.3 1.70 10.0
—E-FHE T _H=1+—H 9.40 3.49 30.2 1.54 9.4
—E——F+=_H=+—H 10.40 2.65 31.8 1.60 20.0
E -t HA=+—H 10.50 2.26 28.9 1.40 19.0
E =+ H=+—H 10.60 1.27 19.9 0.75 13.5
“EF —NE+—H=+—H 10.70 1.43 22.5 1.52 222
—E—-HFET_H=1+—H 10.80 0.88 18.0 1.70 25.0
“E—-ARNHFEt+-H=1+—H 10.80 0.77 16.9 1.16 19.6
—E—tHE+_H=1+—H 10.80 0.64 15.6 0.98 17.8
~F—-/)E=ZH=+—H 10.80 0.63 15.5 0.90 17.0
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